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Sukka 17
Intro

The status of a NJD

Today we will 7”va learn v 97 of 1010 'on

Some of the topics we will learn about include the following: wz th a g ap b etw een
The status of a 1270 with a gap between the walls and the 700 tl/le ,ZUallS aild tlie 73D
The status of a 1210 with invalid 700 between the valid 700 and

the walls

The status of a NJD
with invalid 10D
between the valid 1oD

A discussion regarding the amount of pasul 700 that invalidates

the Sukkah -
The size of a gap in the 700 that invalidates the Sukkah - .

. Whether pasul schach and air-gaps combine to invalidate a T] 1e armount Th e .S lze Of a g [lp
o7 of pasul o in the vo

that invalidates that invalidates
the Sukkah the Sukkah

Whether pasul schach & air-gaps

Some of the key terms and concepts we will learn about
include:

Py 1917 - A bent wall. This principle allows us to regard

invalid 700 as an extension of the wall if it's within four mnR of nb’ Py 1517
the wall. We consider the wall as if it’s bent inwards and

reaches the valid Jo0.

a1 - a person who has become x»v due to an emission from his
body. In addition to iRm0 by contact, he can make things xnv

by sitting on them, known as
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So let's review...

VNI the WY
72109 DOV AWHW MIDTA 11 PN IR I
If the 700 was three o'nov from the wall it’s »109.

122 5V 1201 nNoIw A

72109 MR PIIR JI2°05 SMd 1D W DR

If the roof of a house had a hole and 750 was placed over it, if the
distance from the 300 to the wall is four minK, the Sukkah is
Posul.

Rashi explains that if it's less than four mn»~ the Sukkah would
be Kosher, because the *»on wnb 1057 teaches the rule of
mpY 1977 - a bent wall -

The 509 720 on the sides of the roof are considered an
extension of the wall, as if the wall bends, and reaches the edge
of the Jo0.

Rashi also adds that even if the sides of the roof are made of
materials that are valid for 700, it is still %109 750, because of
YYD R WY

The Mishnah gives two more examples of nmpy 1917:

FITOOR NOPM RV I8 1)

A courtyard that is surrounded with porches, which are 5100 790,
and he put 7w> 7290 over the courtyard - if the porches are less
than four m»R wide, it would be a Kosher Sukkah, based on 1917
py. The porches are considered part of the wall. Also;

12 720010 PRYW 7271 MOpv 517 010

79100 MR PIIX PINN W’ DX

A large 1o0 that was surrounded by material unfit for 750, if it is
four mnx wide, the 7910 is 9109 - If less than four minK, the
Sukkah is Kosher, based on nmpy 1017,

The X begins by explaining why we need three examples of
IPY 101T:

If we had only learned the case of the house that had a hole in
the roof, we would have said 7mpy 1917 works there because the
walls were built for the house, but in the courtyard, the walls
were not built for the porches so maybe mpy 1917 wouldn’t
work. We are told that it does. If we had only been taught these
two cases, we would have said nmpy 1917 works because the
material being used is valid 700, but in the third case, even the
material is invalid and maybe nmpy 1917 doesn’t work. We are
told that it does. X273, this is why we need all three examples.
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The X2 goes into more detail about the size of open space or
invalid Jo0:

127 heard the students of 27 saying in their Rebbe’s name
TwHwa 5o PN

Y2981 Y019 5100 o0

A gap of empty space in the 700 invalidates the 1310 at a width
of three oV, and a section of invalid 700 invalidates at a width
of four o'nov.

127 however holds

MR Y2182 5019 5100 700

A section of invalid 700 invalidates the 1210 only at a width of
four mnx.

127 questioned the Talmidim of Rav from our mwn where it
seems that 71X indeed invalidates at three onov, but 5109 00
invalidates only at four m»R, not o’nov.

They answered that 17 and 58w both said that the nywn is
talking about where the invalid 750 is 7377 » - on the side, next
to the wall, and it's 9w> up to four M1 based on MpY 1917, but
YX¥PN1 - in the middle of the 7910 it's %109 even at four onov.

However, according to Rabbah, even in the middle, the shiur is
four mnx.

127 suggests that this Machlokes has bearing on the following
scenario:

AYIIRD N9 5109 o0

WSV MND IR

We have two sections in the middle of the 750 - one section has
LESS than the shiur of %709 750 - less than four 0’19V, or less
than four mnR respectively - and one section has less than three
omnov of open space - however, these two sections combined
are MORE than four o'nov, or four mnK respectively.

Is the Sukkah Kosher or Posul?
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127 reasoned that according to his opinion of mnR Y1Ix, the
Sukkah is Kosher. Why?

Because, since the Shiur of m»R »29X is mentioned in the
Mishnabh, it must be from the Shiurim of *yomn w5 11557, which
are arbitrary, and

MTIADITIYW N KT 1D

DTORD RY

Two items that have different Shiurim cannot be combined.
However, according to Rav’s opinion of 0'nov nva7x, the
Sukkah is Posul, because, since it is not mentioned in the
Mishnah, it must be a logical shiur that, as in other Halachos, an
area of four o’nov is considered a separate mwA, and therefore,
regarding 1910, four mov of %100 o0 cannot be considered part
of the Sukkah, which invalidates the Sukkah because of a lack
of7o0. So too, omov TWHW R is Posul because of lack of o0
Therefore, they can be combined.

The X1 challenges 127's opinion that items with different
measurements cannot combine from a mwn in 053, where
different materials have different minimum size requirements
to be subject to nxmv. However, the Mishnah says that they
CAN combine to the more lenient shiur and become Tamei?

127 answers that the mwn itself answers this question. pHw "
says they all combine 2w XVY 7 RI7, because they can all
become xnv through sitting as was stated in another mwn;

RV MOV HY MOV 19191 Y317, if they were trimmed down to a one
by one nov piece, they can become xpv. This small piece can
be used as a patch on a donkey’s saddle and if a 2t sat on it, it
would become xnv.

The point is; since regarding one Halachah they all have a
common shiur, they can combine even regarding those
Halachos where they have different Shiurim.

However, there is no Halachah where 5100 900 and 71X have a
common shiur.
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The above discussion presented 727 and 27 disagreeing about
5109 700 in the middle of a 7310, whether the shiur is four onov
or four mnR. This was the version of X710, In X737, it was
presented as a dispute between 17 and SRw.

58w holds

Y2982 5019 5109 90

Invalid 7ov invalidates at a width of four o'nov, and

27 holds

IR P2IR2 5019 51090 100

Invalid 7ov invalidates the 1270 only at a width of four mnx.

After several challenges to the opinion of four o’nov are
answered, the Gemara asks from the following Braisa:

7172 VW IR HW PIOI 1900

79109 55717727

If someone covered his 1210 with cedar boards of four onov
wide, everyone agrees it is invalid.

T2 PR’

5019 PR1 317

PWIN AT AN

If they are less than four omov,

PR 7 says it's still Posul but 7mim '3 says it’s qwo.

901 R 01 J01 P2 W ORW TRH 727 TN

7w 02 Yoo MW

If the space between the boards is equal to the width of the
boards themselves, R’ Meir says you can fill the empty space
with Yoo, any valid 700, and the n>10 is 9wa. According to 27 that
invalid 700, even in the middle, invalidates the Sukkah only at
four mnK, this Xn»71is not difficult. Each board is less than four
mnR, and they are separated by valid 750, so it's 7w2. However,
according to Yxnw, that in the middle, invalid 700 invalidates
the 7210 even at four o'mov, how can the 71510 be valid, each
board is four onov wide?
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The Braisa is speaking of a Sukkah that is exactly eight by eight
mnR, which is forty eight by forty eight o'nov,

RO R 001 703 Y091 7031 Y091 101 17

RO’ RN H001 701 S0 701 YO 70N

VINBRA PHOD W D 1T

VIR 7190 TV RIR)

He started from one side wall, and placed a board/509,
board/>vs, board/509, each four o'nov, for a total of twenty four
DoV, 6X 4 =24. He repeated this from the other side. This way
there are two strips of Y09 next to each other in the middle, for a
total of eight o'nov of valid 700 - enough for a valid 120 in the
middle.
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